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Direction: In Ouestlon nos. Flo /&

words given in the oplions as - pef

!

1

W) qiey Ao
I the follawlig twa gquestions, areaege e (10 2 o e et e a0 fagonyl
the |l

ictionary order and find oot the wore which [ a2 aen g 409 b orar W

will come Tiestan the dictionary

1A) ik 0 Bright

i) Bride 0] Bunty
" -

M) Lack 1 Layer

(c) Laser [0} Latter

Direction: In Question nos. 9 to 12:

In the fa¥owing four questians, find out the
mirror image from the given optians for the
Word/image/Number glven in the questions -
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(A) IAOATZ (8) EKORTS

() ROKETS (o) 2TRONI
1" eagle 45

(A} 2B aiges (8) megls B

(C) 54 clgae (B} 45 eagle
12 WESTERN
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pirection: In Questicn nos. 1310 1#’. .
|in the
|quesnon
(farmed ac
||:nr'P(l answer
[blark space __——

tes. Find ou

from the opnans o fill the :

cording ta some 1V

] zau_r._lﬁ_sn_s_l"

D86 C7
e £ 8 7,00 9

8 W, 8716 |
©c74E9

w A_C10_15_ 201
5, EF25

i) 5,E G, 22

® 7,E6, 13
(o) 5, E, G, 25

turday on the 30th af

15 If there was fifth 53
first day of that month

that month, then the

was:

18} Friday 18} Thursday
16 Monday 1D} Sunday

1w Prem, whose face 15 towards south, lurne_d
his left and mave 15 m, after this he again
turn his left and move 7 m. Finallly he
turned towards west and move 15 m. Find

out the distance from his initial point
Al 16m 18) 27 m
€ 7m o} 37m

" Gita can do % of a job in 6 days and Salma

1
can da;ofjnb in 3 days. In how many days

can they finish the job together ?
A 31 days (8) 41 days
F 2

10} None of these

101 4 days
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@ 7 #H o 37 T
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4 2
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Paged 208014

A dock rang one lime at one O'clock, twa | * w55 zew vs g7 v
times at two O'clock, three times at thres | #7 w7 = oay Ll
elock and <o on How many times the| @7 )
clock will ring in a day ¢ B

141 144 times 8) 152 times
(€] 148 times 1D} 156 times | 1@ ug =

A wT AR B | R fee =
T TE e
Al sgq w4 (1]

@

|
f5«4=157x8=49and6+5=24then|" TfZ 5 , 4 =15, 7 - & = 43 TS 6 » &
the value of 8 »4 would be - | a24 AN B .4 T oHA BT N
14) 24 18] 30 i =

|z ® 3g
teh28 126 | @ oo © 75

Direction: In Question nos. 20 to 23: | fréwE wm wem 20 ¥ o2y
In the following four guestions, in the given | dm faa 3 =9 un s T
options, three are related to each other and | 1w faEeT A fwmAa w2 TR
make their group. Find cut the odd one which | 7@ 1 ™% A £ 3% 28 g@r 8 wE
is not the part of this group. | T = el = F T oTE wm
lmemEEE FTE )

]
Find out the odd one which is not the partef |20 98 T& =05 I 8, 7 77 4 =80

20
this group. W 254015 8 17-46-24
W 25-40- 8 17-40-2
25-40-15 17-40-24 @ 12-35-33 © g-40-32
( 12-35-23 B} K-40-32
21 Find out the odd ene which is nat the part :,F|;9‘ wEweEsWME sz afE= o
this group. 4 gy ® wed
(A] Europe 18} India ‘ © == o ==
(€l Japan D) Russia |
|
22 Find out the odd one which is not the part of|u RS ERERTE
this group. M 519 (LI YRS
(a) 5-19 18) N-14 | @ g ® Qe
€ K-11 o) Q-16
2! Findounheoddoncwhichisnunh:pmur|n dg Qeb ae 4 2 &) dEe 8 e 2
this group. | W Kigen B8 pup
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rectangle  represents managers,
-m_u.mm....ﬁm \sdies ana the circle represents
singers

{7

- 24 @ 28
o | e, 2 dﬂu .4_ & ok Ry Y Ry

n_.-n.u_uq_ In D:nma_n.: nos. 24 to 28:
lin the following i
hased on the di

five gquoshons, answers are
agram given heolow, where | 9
triangle

m e m uid

W
%“_szﬁwu_mm_m&ﬁﬂaﬁiﬂ

"

space  in m_.mmﬂm:..__
ho are manager as well

Which _..e_ﬂ.um,mu
w

recresents lade

as singer ?

A 1€ 8) 4

Ics (o 7

Whach numogred  space  in diagram _ e
resresents manzgers whe are ladies but not |
zsinger 7 |
(a1 £ (B) & _
Q3% 0] 12

The number of ladies, who zre singer nc__” %
not 3 manager would be -

Al £ i8) 15 _
7 e) 12 m

Wnich numbered space in diagrem |7
represents manager who are neither ladies|

nor singer ? |
2 g 18) 12 _
=l (o) 35

Which numbered space in  diagram =

(Al 1§ 8l 4

(€ g ) 7

e wAm @ 9T W ﬁﬂﬂh B
frofs wa & W 5 W Wy
Ta% T 8 ?

(A 4 ® g

(€} as o) 12

(A 4 (8] 15

@ 7 o) 12

e e B M [ e B
el swa & @ 7 a1 <= § ok =
7 OTES ?

4] g (8] 12

4 o) 35

fre e @ 53 @ T 1,“ et

represents singers who are neither ladies G | it ..Iu.ﬂ ‘m. E| wu.
nor manzgers 7 PO
1% 1€ 12 A 5 (8] 13
194 7 € 4 o) 7
T g

LTS

29 Jayesh is taller than Ramesh and Ramesh is
shorter than Nandu. Satish 1s taller than
Vinod but shorter than Ramesh. Nandu is
shorter than Jayesh, Wha is the Lallest gne ?

(Al Ramesh
(€} Satish

(B) Jayesh
(D) Nandu

Direction: In Question nos. 30 to 34:

In the following five questions, froam the given
answer figures (options), select that one figure
which will follow the sequence of the question

figures.

30 Question Fipures :

3

Answer Figures:
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L0 10

Question Figures :
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Answer Figures :
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-
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Cirection:in Questennes. 351233 TS 1W,.m.murw.r1¢ 33 = uw. o ool Direction: In Question nos. 40 to 34: Adem: s w@m 40 @ 4
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|
o Far T B L -
‘ f 3o s _
u ﬂmﬂmﬂmo 18) PA | W TOK _”__ PA
©aTA {c] SIP _ © TA (o) sIP
« The coce of ToST IS w# I @ e T - ——
A} TOK (8) SIP (2 TOK IS
a sA e} TA c sa ©) TA

« ¥ the alchabet of 2 codngdecoding & TR faRl WG AN H  qUEEn
B ANBOCPDQERFSGTHUIVIWKXLYMZ
ANIOCPDQERFSGTHUIVIWKXLYMZ  and| W&k E @21 'CAT = .OZD. forar <re
‘CAT is written s ‘ONG’ the ‘DOG’ would b | w T DOG =1 I8 umer ¥ R AT

writzan as - _ 1
(4 PCS (8 a8s | pcs 8 QBS __
ta qQcs o) PCT @ Qcs B pPCT :
& Thevalueof -7 x (-4) + 56 = (-2) is (% 7 x (-4) + 56 + (2) @I A ¥ -
14 56 {8} None of these L os B T | FE TE
10 -5 ela | (6 -55 (0) g
|
4% In g gue the serial rumber of Rzhul is 8 from |47 U@ nﬂm.r 3 AMgel @l mﬂu_mm il AN &
bcth the side. The rumber of persons inthe| 8 €, @1 Uaic 9 & Aeadl @ HE& ¥
que are - (A) 43 (8) g
we " © 15 0 12
(9 15 (o) 12 m
& B o= .em Tt s :
The vaiue of _” **7 cerrect upto 2 decimal __rreuﬂ gIHed & 3 WM @6 g ¢
NE-V7 NE—aT
pointis 2u 2 == 2525
Given 72645 o
(&) B
w277 7212 = 2.22 ) . (8) 249
=4 T T
O Norecftrese (0)231 T e ez
mﬂ.”l wﬂ.u..,u: among the follcwing is | Wn.W 13 g U i Ty T - &
—and — 25712712 15 )
" e w13 @ 5
2 12 v _
© 11
) @ 17 © 11 |
15 | .Nln..v s

17771

——

2041150

‘J

|
. ', =" means %', x’ means ' and |20 ofy
If ¥ mezan =, ' o 4 —
- «» means +' then the valueof 2: 6x 6:2 @ 3 =, = m] b

K, X
SRR R ¥

W2 .
ﬂww__%% ® 2 X6:2mmAGm. o °
(o) 5 W 10 @,
(4
o g ) s

; X and Y are brothers, P and Q are sisters_ |f |51 y afiz s & .

) the son of X is brother of Q, then the = Q M._.nﬂ.m a%__UJw%MmC_unlumn_ BlX @
relation of Y with P is - A = i j._d,s Y g -
{A1 Uncle (8) Brother © R i 2
() Father (D) Grandfather STt

s2 The Highest Common Factor of 594, 810|s2 594, 810 7 1280 = ]

and 1260 is - (A g B 54 ’
B e .
(€] None of these (D) 162

s1 Of the twao candidates in an election, one
got 40% of the votes and lost by 2980 votes.
The total number of votes polled is -

EIG| W_mhm_m._.mwm-ﬂ,qwdlm.
(A) 14900 18) 15900 (&) 14300 8) 13300
() 13900 (D) None of these (@ 13g00 b =% € 5% =2
% 5 bottles of perfume cost ¥ 1200. The cost of |5t 5 e uwea &1 ==7 7 1200 & @ 7
7 bottles would be <w T b
T 1,880 () 21,780 W T ig80 (3 2 1780
D s i 4
(9 1,680 (D) None of thess © T 1830 0 =7 ¢ % 7

5. The wvalue

of  7V3(27+5V3) - |® 7V3W2T+53) -  W3(HIB-2v75)
R3(/48 — 2475)is “ @A T -
A A Y P AL (B
(A) None of these (8) 330 —.“ SRR ”“ S
i _ C 3 D33
© 11043 (®) 33,3 l 113 2333
_ :
% Find the least number by which 23328 s ag BY& @ S& s ¥ @y EE
should be multiplied to make it perfect| 1o &< G 23328 U% T @F @ @i
square - i (a3 B 7Y € T e
(A} 3 (8) None of these © 4 ) 3
() 4 (o) 2
I Toge 11 AWED
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1425 %35 342 o
: 2 B = )of03s-
The vzlue of ﬁ = u..pmu _
{A) None of these (8} 57.882 _
(€1 83772 (o) S1.612 _

ss Five bells starts ringing together. If the bells | s
ring 3t interval of 12, 18, 25, 40 and 54
seconds respactively, after what interval of
tme they will ring togsther ?

(Al 1 h 10 min, (8) None of thase

(Q 1 h 30 min. ©)1h20min
|
= |If in a ceding-dececding language "GAIN® js (S8

written as ‘7195, then the LOSS will be|
writian as - _

(Al 3600 {8) 1251 |

@ 3611 (t) 3610 |
|50

= Satish had 3 packat of 24 pens. He gave .._m.no _

.1 . |

Nupur and —of the remaining to Ananys, .u*_

6
1

the rest, he mm,«mw to Krishna. The 3:3nm~_

of pens finally left with Sztsh is - _

fa) 5 (8) None of these _

(a 10 o] 15 |

_.

& A certain gquandty of rice is put into two | &
Bags in the rato § : 7. If the bigger bag
contains 27 kg of rice, then the Snm__
quantity of riceis - |
(Al 20 kg (8) SC kg |

10 48 kg C] 45 kg
€ A shopkeeper beught teffees at the rate of 6| &2

for¥ S and sold themat the rate of S for 2 6.
His profit percentage is -

ﬁw,.u.mbm.m " .wmww W 0.3 W HA B -
: o018

(Al =3 1 @ S8 B s57.882

© 53772 2] 51612
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UF TEHFEX 6 o 7 5 1 whed &
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i T T ¥ -
(A) None cf these (B} 35 _ :sﬂ ﬂﬂﬂﬂq aﬂw T4 @ 35
(cl 30 (c) 44 # © 10 61
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& umﬁmo&%mma the wages of 15 labourers for 4 %r.%%q%_h_ mm.w.._ WA g b
¥ ] g Tl 4 gl F1 A il
ould be W T A s 1 %73
ah,.”_w,,am of these (8) ¥ 7,400 3 A B i ) 2 7,400
_ (©) T 8,400 19 ¥ 6800 o 3
@ ¥6,800 ’ 240

The smallest five digit number which js

L T CS IR 49
. e T _ 490 ) deay A o
* exactly dvisible by 2411s i il g, 3 4 A e
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(€1 10122 (D) None of these (© 19129
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|Direction: In Question nos. 80 to 88

in the following passage there arcten blanks,
cach of which has been numbered from (i) ta]
{x) Four words fo
\mennoned agamnst 1
passage You are reqi
choosing the appropria

|af the whole passage
The (i) of eo-educanan in Indhia has been of (1)

kind in the northen part of aur country, lhn"(!“

1e word in the context

lare a(m
|while in the southern pari the () of umnisex

(schoals are mare This is also true fer the rural
India, where the rural masses are bath hoys
land girls (v) together The aim of co-education
(] 15 to prowde [vii) and learning atmosphere
Hor the bLoys and pirls under one roof
oweuer, many peaple, who do not (v} this
lsystemn ol education, are of the opinian that
(Mg system s nat {i¥) They feel that co
_x-riu(_allon is d [#) phenmmean.

w (i)
(A pightly
b hasieally

1B} starting
B} primarily

wi i)
&) prinicigile 18} theary

1) sty tu} ustery
a i)

4] studyping 18] playging
10 reading 0] e bung
w fain

A stand 18) nipipinse

1) it erested ) fawrir
L (7]

1A suashanning 1) il

14 beatd L TR TS
“ e

4 firal 195 4 b

Iy kil 161 wagyun

I

r each blank have hpen'|
he number below the| .
gired 1o hil the blank, (| [iv)

} numter of co-educational schools. ||

[ ()
(4 two (21 mixed
(€} confused (o) many

() count {B] existence
€} amourt (D) number
= (v)

{8} playing (B} studying

1€} learning (D) reading
i)

1A} mare {81 plenty

1€ larpge (0) unlimited

Direction: In Question nos. 90 to 92
In the following three guestions, give one
word {or the fallowing wards/fsentence

i
a A ran who wasles his money on luxury
1A} [rtempore () T xlravagant

1€) Mymph () S e

s A Lank where fish or water plants are kept
(&1 Aequarlum 6] Avlary
1) Mursery (0) Apsiary
ar A place where birds are kept
[WATET (B) | wterjune
1) fostary

[Illrn T In Cuestion nos 9916 94
I_lu e folluwing twe sentences, npove he
|ttt i part i nesded

1) Mursery

e They wianbied b loow wliers was s lioine
180 whiere s his hiise

B wabiwae b huese wias
1) whieie his hotse lig

0 He dnagat dnsesgrissiid

e e )

T 100

—_—

o Yesterday Lhave receved 3 legal otice from = The mother was a
the Bank for repayment of the loan | had|  safety of her son e "
tafen from it A about 18} f
(2 1 did reccive 18 | had received | taat =
i
(c) 1 received I Noimprovement | st
I 17 Within a moment, he burst tears

jon: In Question nos. 95 to 97;
n the following three questions, seme parts of I
a sentence have been jumbled up You are|
required to rearrange these parts which are'”
|abelled P, QL R, 5 to produce the correct|

sentenc_c_ .

Al n
© into

pirect
(8] put in

O} off inte

g Eachculture
p : flourishes when il comes

(1 ; awn traditon and yet

R diaws strength fromots

5 : inta contact with others

(A} SR 1y gONS

(€} RPLYS o) Sarn

wi 1sawa Lanilar face iy coowed
P stopped Lo have a doser ook,
1 L fooked around but didi't see me
it was Indesd my old friend
§ ¢ 1 ealled out his name
[LINEITE i rans

() PRS0 m psan

af Muabuan
oo bsness
01 whisse owner wis out of tawn

I also entioned the names

&+ of Dis confessed lavting stolen goods Tram

i growery shop

(A ey

10 Gnse
Diver i I Cuestion nas, 98t 100;

I e followirg hiee guestions, 1l up
¢ sl sullable altermative
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